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[ia 121,640 110,248 11,392
NS SH 136,276 124,884 11,392
=S 14,636 14,636 0
s 121,640 110,248 11,392
SHHELH 9,000 0 9,000
201 =3 9,000 0 9,000
01 AtR2telbl 9,000 0 9,000
OSHAE &2t 90,0002 «100%* 9,000 0 9,000
DEZ S5t S 56,549 54,157 2,392
101 2124d| 12,200 11,108 1,092
04 JIZtN2 2S84+ 12,200 11,108 1,092
Ound= 3t s2SH 2| 12,200 11,108 1,092
OZXAr2te| At 2 & 6,547,200 6,548 5,566 982
OERE= 2& 1,234,000 1,234 1,124 110
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OZXAHE wSH| 5,000 *13&»20&! 1,300 0 1,300
oliglsl 10,891,540 14,789,878 A3,898,338
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OZHIEXZ Etetz 1,716 0 1,716
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